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Test 2  
Q.1. Translate BOTH the following passages into English by keeping in view 

figurative/idiomatic expressions. (10x2=20 marks) 

A) 

کو  یکہلاتب ہے۔اگر اس آلودگ یآلودگ یکرتب ہے شور ک دایهداخلت پ ںیه یزًدگ یقسن کب شور جو اًسبى ک یثھ یکس

 یاثرات هرتت کر سکت يیاًسبى اور جبًوروں کے جسن اور دهبغ پر سٌگ ہیتو  بیگ بیکے چھوڑ د یًگراً ریثغ

 یہے۔شہر کیسے ا ںیثڑے اسجبة ه الےو ٌےید تیاور اذ یدگیکش ف،یتکل یآلودگ یشور ک ںیہے۔پبکستبى ه

 ںیہے۔هثبل کے طور پر، پٌجبة ه یخطرًبک سطح تک پہٌچ گئ یآلودگ یشور ک ںیعلاقوں اور ثڑے شہروں ه

ہے ججکہ  یثل تک پہٌچ گئ یسیڈ 19سطح  یشور ک ںیکے سروے کے هطبثق لاہور ه یجٌسیا یتحفظ ک یبتیهبحول

 یاور جسوبً یذہٌ یہے۔اس کب هطلت ہے کہ ثہت سے لوگوں ک شتثل تک قبثل ثردا یسیڈ 57 بدٍیسے ز بدٍیز

ہے۔ یہوئ یداو پر لگ یصحت پہلے سے ہ  

B) 

سب اًتظبم کر رکھب  تیعج کیثٌدھے رہٌے کب ا شہیڈور سے ہو یاور آس ک دیقدرت ًے اه ںیفطرت ه یاًسبى ک

 یسلسلہ اس ک ہی وںی___یسریہے تو ت یٹوٹت یہے. دوسر تبیتھبم ل یہے، تو وٍ دوسر یڈور ٹوٹت کیا -ہے

کب سلسلہ ًہ رکھب  دیآس اور اه ہی ںیه عتیطج یقدرت ًے اًسبى ک دیشب -رہتب ہے  یڈور ٹوٹٌے تک چلتب ہ یسبًس ک

۔سے هر جبتب یوسیهب ۔ختن ہو جبتب یپر ہ یدیًب اه یہوتب ، تو وٍ پہل

Q.2. Correct FIVE of the following sentences. (10 marks) 

i. Either of these three umbrellas will suit me. 

ii. Each furniture in this display is on sale for half price. 

iii. I have met him last month. 

iv. He has visited as many historical places as one has or can visit. 

v. I prefer the fifth act of Shakespeare King Lear the best of all. 

vi. Arshad’s down fall was due to nothing else than pride. 

vii. Is your dress different than mine? 

Q.3. Re-write ALL the following sentences after filling in the blanks with appropriate 

prepositions. (Write full sentences in your answer-sheet and underline the filled preposition.) 

 (10 marks) 
i. Don’t take revenge --- these slight injuries. 

ii. He distributed money--- the poor. 

iii. Success consists --- determination. 

iv. His words do not correspond --- his actions. 

v. I was disappointed --- Akram’s insincerity.  

vi. The teacher impressed --- us the need for hard work. 

vii. Bureaucrats consider themselves responsible --- none. 

viii. I shall pass your message –when he gets free. 

ix. Let’s pass --- the past mistakes and plan for the best. 

x. Corrupt politicians are responsible--- the lawlessness in Pakistan. 

Q. 4. Use any FIVE of the following in sentences to make their meaning clear. (10 marks)  

a) A bad lot 

b) A sit in 

c) A bolt from the blue 

d) Hobson’s choice 

e) Out and out 

f) At a stretch 

g) Head over heals 

h) Break the ice 

i) Sword of Damocles 

j) A turncoat 
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